[image: image1.jpg]aat





CBT Sample assessment model answers

Indirect Tax (ITAX) FA2014
Sample assessment 1

Task 1 (5 marks)

[image: image2.png](a) Which ONE of the following statements most accurately describes the business’s VAT registration
requirement as at 1 November?

The business must register without delay because the new order is for an amountin excess of the VAT
registration threshold.

The business is not required to register yet as its taxable tumover for the past 12 months is below the
VAT registration threshold.

The business will exceed the VAT regisiration threshold in the 12 month period to 30 November and
must register within 30 days of 1 December.

AVAT-registered trader is seeking advice on keeping VAT records for VAT inspections.

(b) Complete the following statements by choosing ONE option in each case.

His immediate action should be to [consulthe HWRC website. g
ithis fails to produce the advice he should [ielephone the VAT nelpiine. g
ifthe query remains unresolved he should [wite to HIIRC. v





Task 2 (7 marks)
[image: image3.png](a) In which ONE of the following circumstances could the business use a simplified invoice?

When making a mixed supply of standard-rated items of £200 gross and zero-rated items of £45.

When supplying standard-rated items of £245 plus VAT.

When making a mixed supply of zero-rated items of £200 and standard-rated tems of £45 plus VAT.

(b) Which ONE of the following items of information can be omitted from a simplified invoice?

The tax point

The amount of VAT

The seller's VAT registration number

The seller's address

AVAT-registered business makes supplies of both standard-rated and exempt items. The amount of input
incurred relating to ts exempt supplies is above the ‘de minimus’ amount.

() Which ONE of the following statements is TRUE?

Al ts inputtax can be reclaimed because the ‘de minimus’ amount s excesded.

None of its inputtax can be reclaimed because the ‘de minimus’ amount s exceeded.

Some of ts inputtax can be reclaimed, in proportion to the different types of supply





Task 3 (5 marks)

[image: image4.png](a) Which ONE of the following schemes is being used?

The annual accounting scheme

The cash accounting scheme

The flat rate scheme.

Aregistered trader is using the flat rate scheme.

(b) Can the business use one of the other special accounting schemes with the flat rate scheme?

Yes, it can use the annual accounting scheme.

Yes, it can use the cash accounting scheme

No, it cannot use any other special accounting scheme

(c) Complete the following statement n respect of the availabilty of bad debt relief to a VAT registered
trader.

Bad debt reliefis available when a debt has been written off and is [&teast si monins old.





Task 4 (7 marks)
[image: image5.png](a) Complete the following statements by choosing ONE option in each case.

AVAT-registered business in the UK which sells goods to a business in a country outside the EU

s mains
A supply is normally zero-rated if itis to a business [that is outside the EU.

A business has received a surcharge liabiliy notice from HIMRC.

(b} Complete the following statements choosing ONE option in each case.

s notce ol ony ha beenssued it business
i e dte o subrling s VAT ol

e ot [ps T busness 12 S e perod o 72 s v





Task 5 (4 marks)
[image: image6.png]AVAT-registered business trading in camping equipment makes a mixed supply to a customer as follows:

+ Standarg-rated items for £683 plus VAT
+ Zero-rated tems for £128
+ An early setilement discount of 2 5% s offered.

(a) How much VAT should be included on the VAT invoice?

£25.60

£133.18

£136.60

£158.14

The customer fails to pay the invoice within the early setfement period.

(b) How much should the trader include as output tax on its VAT return in respect of this sale?

£25.60

£133.18

£136.60

£158.14





Task 6 (6 marks)
[image: image7.png](a) Calculate the figure for Box 1 of the VAT return — VAT due on sales and other outputs.

3 19657.91

(b) Calculate the figure for Box 4 of the VAT return — VAT reclaimed on purchases and other inputs,
including acquisitions from the EC.

3 3380598

(c) Calculate the figure for Box 7 of the VAT return — total value of purchases and all other inputs,
excluding any VAT. Whole pounds only.

3 213700





Task 7 (17 marks)
[image: image8.png]Enter the figures for boxes 1 to 9 of the online VAT return for the period ended 28 February.
Do not leave any box blank.

VAT due in this period on sales and other outputs forBox 1 100,328.99
VAT due in this period on acquisitions from other EC Member States forBox2 0
Total VAT due (the sum of boxes 1 and 2) forBox3 100328.99

VAT reclaimed in the period on purchases and other inputs, including
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‘any VAT, from other EC Member States. WHOLE POUNDS ONLY





Task 8 (7 marks)

[image: image9.png]Prepare a draft email to the Chief Finance Officer providing information about some of the potential
effects and consequences of a change. Choose ONE option to complete each sentence.

To [Chiet Finance Officer v
From: [Accounting Technician v

Date: 17 April

Subject  Change of VAT rate

When th e of VAT changes e usiness st conider what prics vl charge o customers
Tese pries [cam remain unchnged e busiess desies v |

T newrte o AT must b eeced i e amount of AT pldto HURG
[t business anges  prices o somers ornot Rl

Ifihe date of the VAT change fall during a VAT period,aur system must
[3ely Sualrates of VAT uring that VAT period depending on each ransaction's tax point. [l

Kind regards

Accounting Technician





Rounding – Boxes 6-9





This model answer shows the figures in boxes 6-9 rounded down, however figures rounded up are equally valid for the purposes of this assessment.
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